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@ hypocotyl vesdufivadon i lnumuinduen  sxio® 81 sxi0®  amn
woih linear C.V. 01 f1579% (Transform &2 VW) waz cv. fdehid
Transform MY 1131 %
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5x10° S 5x10° oma uay S lnear AICV. WAV 11.98% (Transform &8 VW)
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oz Cv. #9118 Transform iy 1179 %
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5. #ams N RN 15@UATY (limear regression) YOI AUADINUF #8.5 WU

Y =-0.0023485+0.000041 671X P <0.0000
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YUSNHANTTUATIZY linear correlation WL

r=0.9680 n=30 p < 0.0000
r=0.9370
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910 5x10° 84 5x10° ama uazdi lnear
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2. §1Fu hypocotyl 8 ¥u  mnzauNgamswiugaiifinsalfounlasvesd
C.V. INNAQA (point of maximum curvature) 1AsliA1 C.V. Wiy 13.97 % (oya'luld
Transform)
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3. HaMIIATIHAUMTIEUNTY (inear regression) WU

Y =-0.026900+0,00032014X P <0.0000
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r=0.9071 n=32 p < 0.0000
r’=0.8228
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